FrS05—% FLAv—% ZF % SL|JXk A=V §i2 | migk | HE | HIE XE
F@m IR ( D—F 15 *x | - -~ | B8R [o—>] a® | -
EIES FA—T7—ROIFI+S1E
Sypgen 22L8=2AR=N= (5 _pz2 UGNT-ITVrD NY 7 — YLD~ [0 ]1d10] &#ees | - [ BH | 58 |1 100]
TS L= —H— MR JX ~43OHPTESE
AFvar Fhe HERY e &l (7] 3 [vaFr—| =& | B | 68 | |
=10 B & ik HERX 35 ol PIR LvX2F T WEN : SHEHP+8DHERIERK
HIZE O M (6] 2 |VvaFr—| Er | B8 | 88 [Y=vH
b o] =] 12ER #®E NE HP-2 HERICLAILXITA—T H— RIE+5
N Lo = —Fh - I g — z=)
BAil [D-02[K—72| WE | fEE | mom | [ Ap | 26 || /NIRARD 5] 2 [XYv—] Ci{f_‘bfff ICE N
Pk 2 0 0 2 FEME | 10 = -
B 4 0 0 4| o | 10| | Hho—®  [3] 2 [XY “;P_‘z ffg‘ﬂai+‘1 a8 | |
E*_: 2 > > 2 iffzg 2 BavbFvUa | 2] 4 [ukrvd EE | BB | BB | |
R LvEI¥RE#%EZ TS
Pk B s s D:tLF+r (1] 5 [ XYv—| &EF | BF | BF | \
e SL | {&F e SL | (& ke SL | (& BhE SL | (& | = HP-[10-Lv] BIEE(C X T v —%&2[E, YT U710
A |1 g% RC |1 x5 | BEDE (1] 4 [ XYv—]| EF | BF | BF | |
1B MNE 1 Bi& S 3 MR SEEE HPELY X 4E1E
e = X0l % UGN | 3 BEORiITE [ 1] | | | |
JEH =T RNEH 15 : R
B - A8 5% : BOEH (1] | | | |
B =i RO - & MR
e i : A8 5% : [ ] \ \ \ \
BEER BE|2r+1| 5 | 40 HP-1 4 & RI+AREZED I —
AYR:80% |B@%&|7r+1| 5 | 40 HP-2 BOOH+ IV T R LAk 22421=43) [
AYR:100% |[BE|9r+1| 5 | 45 HP-2 #MOR+IVEYRL Ak 24+24=48) | [ | | | | |
[ | | | |
B8 flits | &R | B | T8 XE R
o SEER:| O |AstEg:| O
EmAl o-r=x
BEFLTY - FOE Bl (pos) | & (neg) 5 3| #a
DO-rX:BLFP N
P N
P N
P N
P N
P N
P N
BAREP: 8  |[BDEEP:



http://www.tcpdf.org

